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( Pmb . i) A 9-mm-diameter brass rod AB is attached to the base of a cylindrical
brass vessel CD, the cross-sectional area of which is 300 mm?2 Vessel CD is at-
tached to a fixed support at C, and a plug E is attached to end A of the rod.
Knowing that the modulus of elasticity of brass is 85 GPa, determine the magni-
tude of P for which the deflection of the plug is 1.2 mm downward.
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(%’0 b. 2) Determine the focition and the velua o the maximum stress in each of

the two machine elementsl shown.
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Eg Pﬁ[?-i(c) Stress-concentration factors for flat

EEP’“L 2 (B) Stress-concentration factors for flat ;
bars with grooves under pure bending.+

" bars with fiilets under pure bending.t{.
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@5t A single strain gage forming an angle of 80° with a horizontal plane

must be used to determine the torque T transmitted by a solid Q&mmfdihmeter
steel shaft. Knowing that for the steel used G = 75 GPa, determine the torque
indicated by a gage reading of 250 p.
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